[image: image1.emf]area

hare births

hare deaths

hare 

density

hare birth 

fraction

lynx

 births

lynx 

deaths

lynx birth 

fraction

Hares

Lynx

~

hares killed

 per lynx

~

lynx death 

fraction

one time lynx harvest

size of 1 time 

lynx harvest


Hares(t) = Hares(t - dt) + (hare_births - hare_deaths) * dt
INIT Hares =  5E4

INFLOWS:

hare_births =  Hares*hare_birth__fraction

OUTFLOWS:

hare_deaths =  Lynx*hares_killed__per_lynx
Lynx(t) = Lynx(t - dt) + (lynx__births - lynx__deaths - one_time_lynx_harvest) * dt
INIT Lynx =  1250

INFLOWS:

lynx__births =  Lynx*lynx_birth__fraction

OUTFLOWS:

lynx__deaths =  Lynx*lynx_death__fraction

one_time_lynx_harvest = PULSE(size_of_1_time__lynx_harvest,4,1e3)

area =  1E3

hare_birth__fraction = 1.25

hare__density =  Hares/area

lynx_birth__fraction =  .25

size_of_1_time__lynx_harvest = 1

hares_killed__per_lynx = GRAPH(hare__density)

(0.00, 3.89e-305), (50.0, 50.0), (100, 100), (150, 150), (200, 200), (250, 250), (300, 300), (350, 350), (400, 400), (450, 450), (500, 500)

lynx_death__fraction = GRAPH(hare__density)

(0.00, 0.94), (10.0, 0.66), (20.0, 0.4), (30.0, 0.35), (40.0, 0.3), (50.0, 0.25), (60.0, 0.2), (70.0, 0.15), (80.0, 0.1), (90.0, 0.07), (100, 0.05)

